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[1 free 00 mOJ cat /proc/swaps LI [root@db?2 root]# free -m total
used free shared buffers cached Mem: 1006 84 922 0 11 38 -/
buffers/cache: 35971 Swap: 0 0 0 [root@db2 root]#200 O O O O [
DJO0O00o00oo0dOswep OO0 0ooooooooo
Oo000000o00oOol100o00oooooooon
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[root@db?2 root]# dd if=/dev/zero of=/home/swap bs=1024
count=1024000 1024000 0 records in 1024000 0 records out
[root@db2root]#0 U OO0 OO OOOOOOOO [root@db2
root]# mkswap /home/swap Setting up swapspace version 1, size =
1023996 KiB [root@db2rootj®30 0D D OO OO OO DO OO
Oo00000000o00o0ooooooooooOon
[root@db2 root]# swapon /home/swapll O O O 0O 0O O OO 0O O
[root@dDb2 root]# free -m total used free shared buffers cached
Mem: 1006 994 12 0 4 929 -/ buffers/cache: 60 946 Swap: 999 0 999
[root@db2root]#0 D O OO OO O OO Jete/fstab O O 0O O O
0 O 0O O /home/swap swap swap defaults 00 LI [0 [root@db?2
root]# vi /etc/fstab LABEL=// ext3 defaults 1 1 LABEL=/boot /boot
ext2 defaults 1 2 /home/swap swap swap defaults 0 0 none /dev/pts
devpts gid=5,mode=620 0 0 none /proc proc defaults 0 0 none
/dev/shm tmpfs defaults 0 0 LABEL=/usr /usr ext3 defaults 1 2



/dev/sda5 swap swap defaults 0 0 /dev/cdrom /mnt/cdrom i1s09660
noauto,owner,kudzu,ro 0 0/dev/fd0 /mnt/floppy auto
noauto,owner,kudzu 0 0 /nome/swap swap swap defaults 0 00J [J [J
Jododoboboooodobooouoooooooooa
O O 0O [root@db2 oracledb]# free -m total used free shared buffers
cached Mem: 1006 979 27 0 6 917 -/ buffers/cache: 54 952 Swap: 999
0999 [root@db2 oracledb]#100Test 1 U OO0 O OO O 0O OO O
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